SI. No. – site bills	13	3			- site	bills	16/0	4/21
register Company Name:			Register Site:			BRGV		
Name of Contractor	MR						BRU	V
Nature of work	Pras			wdo				
		brick				<u>b</u> sto	ne w	
Work done	From Da	ate	710	13/21		To Date		4 21
SI. Villa/Flat/block no No.	D. Qty		Rate	:	Units	Amou	int	Contractors bill no
1. Type 1 Interlocki	ng 109	50	17	.25	Sft	18,11	2.50	
2. brick work								
3. Interlocking brick	work 96	2.25	5.0	00	sft	4,81	-25	
4. Near Temple		0.00	10	50	sft	1600		
5. on CRS wall	33	0.0	10.	00	sft	330	0	
6. curbstone work (fr	ont 16	90	10.	00	Sft	16,9	00	
7. side)								
8. curbstone (back si	de) 20.	40	10.0	00		20,4	-00	
9. 2 coats plastering	9-for 37	30	12.1	50	Sft	44,	760	
Carostone								
							883.75	-
Bill required	<b>VYES</b>	∃NO.		GST	bill requ	uired	□ YES □	INO.
Measurement &	Requir				uremen			
- norreganes		quired	estimate sheet: PO/WO date:			□ Not en	closed	
				10/1				
Remarks :								
Approved by Project Ma	nager	Approv	ved by	y Desi	gn Tean	n App	roved by	M.D.
Date: 64L		Date:				Date	2:	
Sign: May W		Sign:				Sign	1:	
9. 2 ccats flastering 10. curb Stone 11. T Bill required Measurement & estimate sheet: PO/WO no. Remarks : Approved by Project Ma Date: 6 4 4	9-for 3-1 otal: VYES Requir Not re	30 → NO. red quired Approv Date:		GST Meas estim PO/V	ate shee	4.4, 1,09, uired t & et: : n App Date	760 883.75 VES Not en	NO. ed closed

## Construction division. Advice for giving credit to contractors/suppliers.

Notes: 1. This advice must be sent within 7 days of completing work. 2. This form can be used for certifying labour bills, bills for hire charges, earth work, turnkey civil contractors. 3. Wherever not applicable – fill NA. 4. Estimate and measurement sheets are not required for turnkey jobs where guideline rates are clearly given.

MEASUREMENT SHEETCompany Name:MRGVProject:BRGVWork Description:Nala Brick & curb stone workName of the ContractorPrasad chowdaryPrepared ByNikhilDate16-04-2021		MRGVImage: Marger of the stateBRGVImage: Marger of the stateNala Brick & curb stone workImage: Marger of the statePrasad chowdaryImage: Marger of the stateNikhilImage: Marger of the state16-04-2021Image: Marger of the state		MRGVImage: Marger of the stateBRGVImage: Marger of the stateNala Brick & curb stone workImage: Marger of the statePrasad chowdaryImage: Marger of the stateNikhilImage: Marger of the state16-04-2021Image: Marger of the state
work	work			Approved T.Madhu I.Madhu
	A B Length Width	B	B	Approved T.Madhu T.Madhu B C Width Height

	ipees only.	intey ru	undred and N	Amount in words -One Lakh eight thousand Five hundred and Nintey rupees only.	Amount in wo	
					Grand Total	
	12.00	011	5,150.00	ALOISO IN STUDIENIC STUDE		
44 760 00	17 00	¢₽	3 730 00 sft	2 costs plastering for curbstone	Plastering	7
20,400.00	10.00	sft	2,040.00 sft	curbstone work(back side)	Brick work	6
16,900.00	10.00	sft	1,690.00 sft	curbstone work(front side)	brickwork	5
3,300.00	10.00	sft	330.00	on CRS wall	Brick Work	4
1,600.00	10.00	sft	160.00	Near temple	Brick work	3
4,811.25	5.00	sft	962.25	Interlocking brick work	PCC	2
18,112.50	17.25	sft	1,050.00	Type 1 Interlockig brick work	Nala	1
Amount	Rate	Units	Quantity	Item Description	Item Head	S No.
				16-04-2021		Date
				Nikhil	Y	Prepared By
				Prasad chowdary	Name of the Contractor	Name of th
				Nala Brick & curb stone work	ription	Work Description
				BRGV		Project:
	T.Madhu			MRGV	Name:	Company Name:
	Approved					

## **Bill for Equipment Allowance**

Prasad chowdary, Balaji nagar,shamirpet , Secunderabad.

Date: 16-04-2021

In favor of :	Modi Realty Genome Valley.
Project / Site:	Bloomdale Residency Genome Valley.
Location:	Murharpally.
Type of Work:	Nala Brick work & Curb stone work.
Towards:	Allowance for Equipment

S No.	Description	Amount
1.	Brief description of work done: Nala Brick work & curb	
	stone.	Rs.43,953/-
	Total Amount = $1,09,883/-$ .	
	Work done from date 7-03-2021 to 11-04-2021	

Amount in words: Forty Three thousand Nine hundread Fifty Three rupees only.

•

Sign: \_\_\_\_\_

Bill for Labour Charges

Prasad chowdary, Balaji nagar,shamirpet , Secunderabad.

Date: 16-04-2021

In favor of :	<b>Modi Realty Genome Valley</b>
Project / Site:	Bloomdale Residency Genome Valley
Location:	Murharpally.
Type of Work:	Nala & Curb stone Brick work.

Towards: Labour Charges

S No.	Description	Amount
1.	Brief description of work done: Towards nala brick &	
	Curb stone work	Rs 43,953/-
	Total Amount = $1,09,883/-$	
	Work done from date 07-03-2021 to 11-04-2021.	

Amount in words: Forty Three thousand Nine Hundread Fifty Three rupees only.

Sign: \_\_\_\_\_

## **Allowance for Consumables**

Prasad chowdary, Balaji nagar,shamirpet , Secunderabad.

Date: 16-04-2021

In favor of :	Modi Realty Genome Valley.
<b>Project / Site:</b>	Bloomdale Residency Genome Valley.
Location:	Murharpally.

Type of Work:Nala & Curb Stone Brick work.Towards:Allowance for Consumables.

S No.	Description	Amount
1.	Brief description of work done: Nala Brick & Curb stone work. Total Amount = 1,09,883/ Work done from date 07-03-2021 to11-04-2021	Rs 21,976/-

Amount in words: Twenty One thousand Nine Hundred and seventy Six rupees only.

Sign: \_\_\_\_\_